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Note :- All questions from each section carry equal marks. All questions are compulsory and answer limit are approximately

250 words. Start the answer of each section from new page. Maximum limit of pages of answer booklet are
approximately 16 pages. Answer should be written by the student in his/her own handwriting mandatory. The

first page of answersheet should be download by the student from university website www.bubhopal.ac.in is

mandatory.
1. yiel dk ie; fyi[i; o0 f) dift,A

State and prove Lamis theorem.

2. ilp cjicj yEckob;k okyn Hkjgiu NMk ok b1 idkj tivk tirk g] fd o ,d leprHit ABCD d fuek.k dj fele tkpoh NM
lepriit dk fod.k BD cukrt gA ;i ,d Hij C I dek dj IEi.k fudk; de Ay ,d fuf'pr fLRg [Ivh T Vix f;k

ri f1) dift, fd LiE;lolFk e NM BD e nic w/+/3 gixiA
Five weightless rods of equal length are joined together so as to from arhombus ABCD with one diagonal BD. If
aweight W be attached to C and the system be suspended from A, show that the thrust in the rod BD is equal to

W /3.

3. "W J L0 "W viokk Tery di ifjHeftr dift,A

Define null lines and null planes.

4. 2belb di ,d vicridj NV ,d ik dfk §drt cyu ij Nefer =i I j[i g] gk cyu dh f=Tsk a gh kb, fd NN

dk 1IE; LFk;h gixk €t b dk etu a I Nk gA
A uniform beam of thickness 2b rests symmetrically on a perfectly rough horizontal cylinder of radius a. Show that

the equilibrium of the beam will be stable according as b is less than a.

5. ,d d.Afdli Teryi; of ij xfrelu g bk Li*h; vij viHyificd ox Kir dift,A

A particle moving in a plane curve. Find its tangential and normal velocity.
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